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AT — 37/ Part-A

Tt Tt o I for@, Tedres o & foru 1 3ieR B

Answer ALL questions, each question carries 1 mark.

I. Elgﬁ%_c"ffg{q - Multiple Choice Questions 5 x 1 =5 Marks
L. ForaTTed STTehar (STaXfea shelwTf-) o &9 & ST ST 2

4.

a. gsll b. Afufvwmdfesm ¢ Ao €@ d.  TRNIcH GSTT

Operant conditioning is also known as:

. instrumental observational negative
a. Punishment . o c. . . .
conditioning learning punishment
TS WTTRITeT el Saaree H, fR18Teh Uoh QT STATeRYT Y& e | ol HiordT Y&t shidT 8 Si:
FHTET 3! BATTIRd . IS ! SIgraT HECKD
a. b. WeeTes g c. ‘ d.
FAT R Jare Treafed T 8

In a progressive classroom setup, the teacher facilitates learning by- providing an environment that:

promotes d encourages

e

a. discourages inclusion  b. is restrictive ] . o
discovery repetition

TS Sl 3h A1 o H Tl (o & Ste e o, Tt SHiSHT S111e| 56 AXE o TTator shedl W &l
far= 2
a. A H THEAH/ FH b, aﬁ@ﬁ&ﬁ

A child's notebook shows errors in writing like reverse images, mirror imaging, etc. Such a child is

c. HRadH T d. ¥e it gwer

showing signs of:-

_ . Learning Learning Learning
a. Learning disadvantage b. o c. .
disability difficulty problem
Hroufea et forer ST Tt ferar T o
a. A dfEAE b. s e c. S fUsmie d. U IS

D.Ed.Spl.Ed.(ID) - Page No. 1/4



Operant conditioning was introduced by

a. Ivan Pavlov b. B.F Skinner
5. AT e o TTT i | ST ST FohafT STt 2
a. TETA b. SHT-TH.IN

Which one of the tool is used for language assessment

a. LAT b. BASAL-MR

I1. & T WX — Fill in the blanks

. @H =T/ HTx
SQ=SA/CA x
2. T s o T Arfaa gefeia @t (MISIC)
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Jean Piaget d. Seguin Freud
d. TETHS
d. SFB
5 x1 =5 Marks
Fefetoitr Tohet T T ST 2

Malin's Intelligence Scale for Indian Children (MISIC) is the Indian adaptation of

Intelligence scale.

3. wyeft &1 T TER 2l
is a type of memory.
4. I U YT 2l
TORCH is a type of
5. STATH FABH 2l

Full form of DNA is

I11. @& IT T AT - State True or False

1. EfsraTcHer ST AT 7 9 11 99 deh 8idl R

Concrete operational stage: ages 7 to 11.
2. foRmaTereh 36 @ sifiger STeTmdT B Tkt 2

Developmental delay may lead to intellectual disability.

3. foeqri S o foT SeRTeRtor Heea Ul 2

Immunization is important for children with disabilities.

4. e 3 ke faerm o1 fagid =&t faam R

Freud has not given theory of personality development.
5. feff ok g AT AR R B

Seizures is not another name for epilepsy.

5x1=5 Marks
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1v. FaferRaa =t faerd - Match the Following 5x 1=5 Marks
1. fpff & g a. L
2. foemETeTs dfsg b. wrFAR
3. SN Y Ear c. gl fafy
4. HIq HshHT d. Ui g
5. e e e. SIS FelcdT
1. Types of epilepsy a. DQ
2. Developmental Quotient b.  Myoclonic
3. Industry Vs. Inferiority ¢.  Case Study Method
4. Maternal Infection d.  Erik Homberger Erikson
S. Case History Taking e.  Congenital Rubella

AT — o/ Part-B

Tt w2t % I AT, T aH % foru 1 sieR B

Answer all the questions in one or two sentence. Each question carries 1 mark 5 x1 =5 Marks

1. TfRgH & 3719 71 T 8
What do you mean by learning?
2. vd-fremer ot o S S & itfaes ot fafen
Write any two physical changes during pre-school years.
3. STacis TS o ST T T 82
What do you mean by observation method?
4. IS AT IS T 22
What is zygote?
5. THRICHE TSI T 87

What is negative reinforcement?
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AT - T/ Part-C

foeet 2t et 3 IR AT, wedres wor o forw 5 9fen B (org feoaot)

Answer any TWO questions; each question carries S marks (Short Notes)

1.

3.

SRATSIE ST ohl TRTIG 3L ST SHERT SRITET ST ot == il
Define operant conditioning and discuss its basic concepts.

Ifig 37 ferenrer Y SreTfere e ATt shitent <kt feraror st

Give an account of factors affecting growth and development.

e o/ 22 Tfer o =0T R 2

What is memory? What are the stages of memory?

ST ST X T e fodl

Write a note on operant conditioning.

AT -/ Part-D

fergt T wait o 3T AT, e 3 T 10 ok 31 (Fraferenen)

Answer any ONE question, question carries 10 marks (Essay type)

1.

3.

URATH FAT 27 sifeger feszimar o Tenerm o gt ol foream @ ford)

What is prevention? Write types of prevention of intellectual disability in detail.

foreff o 22 geh SR <t s i
What is epilepsy? Explain its types.
g 3T farerma o fafu= fagiai = foear & fol

Write in detail on various principles of growth and development.

skeskoskosk skosk
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2 x 5=10 Marks

1x10 =10 Marks
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